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SCORECENTS 

Exponents and Powers 

Grade 7 CBSE 

 

Q1) Write in standard notation. 

i) 2.7 x 1012  

ii)1.5 x 108  

 

Q2) Write in exponential form.                         

i) 40,00,00,00,00,00,000 

ii)300,000,000,000,000,000 

 

Q3)𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑎)
210×73

29×7
               𝑏)

25 ×52×𝑡8

103×𝑡4
    

 

Q4)𝐼𝑓 2𝑛 = 32 𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 2𝑛−2 

 

Q5) Find the value of C if, 

7𝑛+2 − 7𝑛+1 + 7𝑛 = 𝐶 × 7𝑛 

 

Q6)
𝑥

𝑦
= (

3

5
)

2
÷ (

9

4
)

0
  𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 (

𝑦

𝑥
)

3
 

 

Q7)Find value of k. 

(
7

3
)

7

× (
7

3
)

3

= (
49

9
)

2𝑘−3

 

 

Q8) The speed of the light in vacuum is 3 × 108m/s. Sunlight takes about 

8min to reach the earth. Express the distance of sun from the earth in 

standard form. 
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Solutions 

Q1) Write in standard notation. 

i) 2.7 x 1012 = 2700000000000             

ii)1.5 x 108 = 150000000    

 

Q2) Write in exponential form.                         

i) 40,00,00,00,00,00,000  = 4 x 1014 

ii) 300,000,000,000,000,000 =3 x 1017 

 

Q3)𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑎)
(22)5×73

29×7
               𝑏)

25 ×52×𝑡8

103×𝑡4
    

Sol3) a) 
(22)5×73

29×7
=   

210×73

29×7
          ∵ ( 𝑎𝑚)𝑛 =  𝑎𝑚𝑛 

210 × 73 × 2−9  x 7−1        ∵ 𝑎−𝑚  =  
1

𝑎𝑚
 

210−9x 73−1                           ∵  𝑎𝑚 x 𝑎𝑛 = 𝑎𝑚+𝑛 

2 x 72  

 

 

3b) 

25 ×52×𝑡8

103×𝑡4
  = 

52 ×52×𝑡8

23×53×𝑡4
           ∵ 𝑎𝑚x 𝑏𝑚 = (𝑎𝑏)𝑚 

 

52x 52 x t8 x t-4 x 2-3 x 5-3              ∵ 𝑎−𝑚  =  
1

𝑎𝑚
 

52+2-3x t8-4 x 2-3                     ∵  𝑎𝑚 x 𝑎𝑛 = 𝑎𝑚+𝑛 

5𝑡4

23
                                                        ∵ 𝑎−𝑚  =  

1

𝑎𝑚
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Q4)𝐼𝑓 2𝑛 = 32 𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 2𝑛−2 

Sol. 4) 

2𝑛 = 25, 𝑛 = 5  

2𝑛−2 = 25−2 = 23 = 8 

 

Q5) Find the value of C if. 

7𝑛+2 − 7𝑛+1 + 7𝑛 = 𝐶 × 7𝑛 

Sol.5) 
7𝑛+2 − 7𝑛+1 + 7𝑛 = 𝐶 × 7𝑛 

7𝑛 × 72 − 7𝑛 × 71 + 7𝑛 = 𝐶 × 7𝑛 

7𝑛(49 − 7 + 1) = 𝐶 × 7𝑛 

7𝑛 × 43 = 𝐶 × 7𝑛 

3 = 𝐶 

 

Q6)
𝑥

𝑦
= (

3

5
)

2
÷ (

9

4
)

0
  𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 (

𝑦

𝑥
)

3
 

Sol. 6) 
𝑥

𝑦
= (

3

5
)

2
÷ 1     since 𝑎0 = 1 

 
𝑥

𝑦
= (

3

5
)

2
      

𝑦

𝑥
= (

3

5
)

−2
= (

5

3
)

2
     since 𝑎−𝑚 =

1

𝑎𝑚
 

(
𝑦

𝑥
)

3
= ((

5

3
)

2

)
3

=(
5

3
)

6
       since (𝑎𝑚)𝑛 = 𝑎𝑚𝑛 

 

Q7)Find value of k. 

(
7

3
)

7

× (
7

3
)

3

= (
49

9
)

2𝑘−3

 

Sol. 7) 

(
7

3
)

7+3

=    (
72

32
)

2𝑘−3

         𝑠𝑖𝑛𝑐𝑒 𝑎𝑚 × 𝑎𝑛 = 𝑎𝑚+𝑛 
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(
7

3
)

10

=    ((
7

3
)

2

)

2𝑘−3

 
𝑎𝑚

𝑏𝑚
= (

𝑎

𝑏
)

𝑚

 

(
7

3
)

10
=    (

7

3
)

2(2𝑘−3)
   since (𝑎𝑚)𝑛 = 𝑎𝑚𝑛 

 

10 = 2(2k-3) 

10 = 4k-6 

K = 16/4 =4 

 

Q8) The speed of the light in vacuum is 3 × 108m/s. Sunlight takes about 

8min to reach the earth. Express the distance of sun from the earth in 

standard form. 

 

Sol.8) Speed = distance /time 

Distance = speed x time 

Distance = 3 × 108 × 8 = 24 × 108 

2.4 × 109 
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